LakeCounty Division of Transportar	tion					
		Summary of Bids Receiv	ved			
Pr	oject: Kilbourne Road Culvert Repair					
Se	ction: 18-00094-03-BR					
Descri	ption: Kilbourne Road culvert repair					
	S Pin: B-01476					
Let	Date: 7/16/2019					
Bidder	Address	City, State, Zip	Bond	Bid Price	% Over/Under Eng. Estimate	\$ Over/Under Eng Estimate
Campanella & Sons, Inc.	39207 N Magnetics Blvd	Wadsworth, IL 60083	Bid Bond	\$390,892.51		1 - 7 -
Berger Excavating Contractors	1205 Garland Road	Wauconda, IL 60084	Bid Bond	\$574,108.71	44.48%	\$176,743.7
Engineer's Estimate				\$397,365.00		
Design	IDOT(2)	Contract Bidder		County Engineer		
Finance	Bid Tab File	Resident Eng.		Mgr Capital Progra	mming	
Construction	Project File	Request By Mail				



Bid Tabulation

Project: Kilbourne Road Culvert Repair

Section: 18-00094-03-BR

Description: Kilbourne Road culvert repair

14					Ep.a Fat	imato	Porgor Eveninti	ag Contractors	Campanella & Sons, Inc.	
Item No.	Pay Code	Description	Quantity	Unit	Eng Est		Berger Excavati	_		
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	20200100	EARTH EXCAVATION	317.0	CU YD	\$50.00	\$15,850.00	\$65.00	\$20,605.00	\$99.80	\$31,636.60
2	20700220	POROUS GRANULAR EMBANKMENT	85.0	CU YD	\$100.00	\$8,500.00	\$110.00	\$9,350.00	\$117.90	\$10,021.50
3	21101615	TOPSOIL FURNISH AND PLACE, 4"	1,301.0	SQ YD	\$10.00	\$13,010.00	\$8.00	\$10,408.00	\$8.50	\$11,058.50
4	25000210	SEEDING, CLASS 2A	0.8	ACRE	\$6,000.00	\$4,800.00	\$4,000.00	\$3,200.00	\$2,887.50	\$2,310.00
5	25000400	NITROGEN FERTILIZER NUTRIENT	45.0	POUND	\$5.00	\$225.00	\$5.00	\$225.00	\$3.15	\$141.75
6	25000600	POTASSIUM FERTILIZER NUTRIENT	45.0	POUND	\$5.00	\$225.00	\$5.00	\$225.00	\$3.15	\$141.75
7	25100630	EROSION CONTROL BLANKET	2,499.0	SQ YD	\$5.00	\$12,495.00	\$1.75	\$4,373.25	\$1.30	\$3,248.70
8	25100635	HEAVY DUTY EROSION CONTROL BLANKET	39.0	SQ YD	\$10.00	\$390.00	\$10.00	\$390.00	\$3.15	\$122.85
9	28000305	TEMPORARY DITCH CHECKS	116.0	FOOT	\$18.00	\$2,088.00	\$26.00	\$3,016.00	\$16.80	\$1,948.80
10	28000400	PERIMETER EROSION BARRIER	1,130.0	FOOT	\$5.00	\$5,650.00	\$4.00	\$4,520.00	\$3.30	\$3,729.00
11	28100109	STONE RIPRAP, CLASS A5	113.0	SQ YD	\$80.00	\$9,040.00	\$145.00	\$16,385.00	\$213.10	\$24,080.30
12	28200200	FILTER FABRIC	125.0	SQ YD	\$5.00	\$625.00	\$8.00	\$1,000.00	\$5.00	\$625.00
13	35101400	AGGREGATE BASE COURSE, TYPE B	301.0	TON	\$30.00	\$9,030.00	\$50.00	\$15,050.00	\$61.10	\$18,391.10
14	40600275	BITUMINOUS MATERIALS (PRIME COAT)	2,004.0	POUND	\$3.00	\$6,012.00	\$0.01	\$20.04	\$0.01	\$20.04
15	40600290	BITUMINOUS MATERIALS (TACK COAT)	114.0	POUND	\$5.00	\$570.00	\$0.01	\$1.14	\$0.01	\$1.14
16	40603335	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N50	56.1	TON	\$155.00	\$8,695.50	\$195.00	\$10,939.50	\$204.75	\$11,486.48
17	44004250	PAVED SHOULDER REMOVAL	165.0	SQ YD	\$30.00	\$4,950.00	\$25.00	\$4,125.00	\$23.65	\$3,902.25
18	48101200	AGGREGATE SHOULDERS, TYPE B	4.0	TON	\$275.00	\$1,100.00	\$200.00	\$800.00	\$391.85	\$1,567.40
19	48203021	HOT-MIX ASPHALT SHOULDERS, 6"	503.0	SQ YD	\$60.00	\$30,180.00	\$60.00	\$30,180.00	\$59.30	\$29,827.90
20	50200300	COFFERDAM EXCAVATION	100.0	CU YD	\$35.00	\$3,500.00	\$100.00	\$10,000.00	\$112.00	\$11,200.00
21	50201101	COFFERDAM (TYPE 1) (LOCATION - 1)	1.0	EACH	\$15,000.00	\$15,000.00	\$6,500.00	\$6,500.00	\$12,050.00	\$12,050.00
22	50201102	COFFERDAM (TYPE 1) (LOCATION - 2)	1.0	EACH	\$15,000.00	\$15,000.00	\$6,500.00	\$6,500.00	\$12,050.00	\$12,050.00



Bid Tabulation

Project: Kilbourne Road Culvert Repair

Section: 18-00094-03-BR

Description: Kilbourne Road culvert repair

Item	Pay Code	Description	Quantity	Unit	Eng Est	imate	Berger Excavati	ng Contractors	Campanella & Sons, Inc.		
No.	ray code	Description	Quantity	Oilit	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	
23	60300305	FRAMES AND LIDS TO BE ADJUSTED	1.0	EACH	\$750.00	\$750.00	\$975.00	\$975.00	\$610.00	\$610.00	
24	63000001	STEEL PLATE BEAM GUARDRAIL, TYPE A, 6 FOOT POSTS	725.0	FOOT	\$30.00	\$21,750.00	\$42.00	\$30,450.00	\$21.40	\$15,515.00	
25	63100167	TRAFFIC BARRIER TERMINAL, TYPE 1 (SPECIAL) TANGENT	4.0	EACH	\$3,500.00	\$14,000.00	\$5,000.00	\$20,000.00	\$2,625.00	\$10,500.00	
26	63200310	GUARDRAIL REMOVAL	688.0	FOOT	\$10.00	\$6,880.00	\$9.00	\$6,192.00	\$5.05	\$3,474.40	
27	67100100	MOBILIZATION	1.0	L SUM	\$21,500.00	\$21,500.00	\$34,200.00	\$34,200.00	\$18,099.75	\$18,099.75	
28	70300100	SHORT TERM PAVEMENT MARKING	2,263.0	FOOT	\$1.50	\$3,394.50	\$0.65	\$1,470.95	\$1.50	\$3,394.50	
29	70300150	SHORT TERM PAVEMENT MARKING REMOVAL	922.0	SQ FT	\$0.75	\$691.50	\$1.65	\$1,521.30	\$3.50	\$3,227.00	
30	70300220	TEMPORARY PAVEMENT MARKING	2,009.0	FOOT	\$1.00	\$2,009.00	\$0.25	\$502.25	\$0.30	\$602.70	
31	70300230	- LINE 4" TEMPORARY PAVEMENT MARKING - LINE 5"	2,009.0	FOOT	\$1.00	\$2,009.00	\$0.25	\$502.25	\$0.30	\$602.70	
32	70107004	PAVEMENT MARKING BLACKOUT TAPE, 4"	275.0	FOOT	\$5.00	\$1,375.00	\$1.75	\$481.25	\$1.85	\$508.75	
33	70107005	PAVEMENT MARKING BLACKOUT TAPE, 5"	1,510.0	FOOT	\$3.00	\$4,530.00	\$1.85	\$2,793.50	\$1.95	\$2,944.50	
34	70400100	TEMPORARY CONCRETE BARRIER	675.0	FOOT	\$30.00	\$20,250.00	\$35.00	\$23,625.00	\$32.75	\$22,106.25	
35	70600240	IMPACT ATTENUATORS, TEMPORARY (NON-REDIRECTIVE,), TEST LEVEL 2	2.0	EACH	\$5,000.00	\$10,000.00	\$2,800.00	\$5,600.00	\$2,940.00	\$5,880.00	
36	72400710	RELOCATE SIGN PANEL - TYPE 1	6.0	EACH	\$55.00	\$330.00	\$20.00	\$120.00	\$21.00	\$126.00	
37	LC200051	REJECTED LOAD TRANSPORTATION	3.0	LOAD	\$1,000.00	\$3,000.00	\$435.16	\$1,305.48	\$240.00	\$720.00	
38	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	3,675.0	UNIT	\$1.00	\$3,675.00	\$1.00	\$3,675.00	\$1.00	\$3,675.00	
39	LC780021	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 4"	252.0	FOOT	\$3.50	\$882.00	\$2.46	\$619.92	\$2.60	\$655.20	
40	LC780022	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 5"	2,011.0	FOOT	\$3.50	\$7,038.50	\$3.08	\$6,193.88	\$3.70	\$7,440.70	
41	LC782000	GUARDRAIL REFLECTORS	30.0	EACH	\$10.00	\$300.00	\$8.00	\$240.00	\$10.50	\$315.00	



Bid Tabulation

Project: Kilbourne Road Culvert Repair

Section: 18-00094-03-BR

Description: Kilbourne Road culvert repair

Item	Pay Code	ode Description	Quantity	Unit	Eng Est	imate	Berger Excavatir	ng Contractors	Campanella & Sons, Inc.	
No.	,	2 330 1 1 1 1 1	Q,	J	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
42	X0325366	STORM SEWER REPAIR	204.0	FOOT	\$100.00	\$20,400.00	\$100.00	\$20,400.00	\$51.00	\$10,404.00
43	X0327980	PAVEMENT MARKING REMOVAL - WATER BLASTING	791.0	SQ FT	\$5.00	\$3,955.00	\$2.00	\$1,582.00	\$2.10	\$1,661.10
44	X0426200	DEWATERING	1.0	L SUM	\$30,000.00	\$30,000.00	\$10,000.00	\$10,000.00	\$20,998.00	\$20,998.00
45	X0358300	REMOVE AND RELAY END SECTIONS	3.0	EACH	\$1,000.00	\$3,000.00	\$16,200.00	\$48,600.00	\$6,650.00	\$19,950.00
46	X5420672	PIPE CULVERTS TO BE CLEANED 72"	204.0	FOOT	\$30.00	\$6,120.00	\$100.00	\$20,400.00	\$50.60	\$10,322.40
47	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	2.0	CAL MO	\$3,000.00	\$6,000.00	\$4,000.00	\$8,000.00	\$3,750.00	\$7,500.00
48	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$16,100.00	\$16,100.00	\$138,500.00	\$138,500.00	\$9,187.50	\$9,187.50
49	X7030005	TEMPORARY PAVEMENT MARKING REMOVAL	1,812.0	SQ FT	\$2.50	\$4,530.00	\$0.50	\$906.00	\$0.50	\$906.00
50	Z0062450	SAWING PAVEMENT (FULL DEPTH)	1,224.0	FOOT	\$5.00	\$6,120.00	\$5.00	\$6,120.00	\$4.60	\$5,630.40
51	Z0062456	TEMPORARY PAVEMENT	164.0	SQ YD	\$60.00	\$9,840.00	\$130.00	\$21,320.00	\$87.65	\$14,374.60
		Bid Total				\$397,365.00		\$574,108.71		\$390,892.51



Project: Kilbourne Road Culvert Repair

Section: 18-00094-03-BR

Description: Kilbourne Road culvert repair

Item	Pay Code	Description	Quantity	Unit	Eng Est	imate	Min Rid Prico	Max. Bid Price	Ava Rid Prico
No.	ray code	Description	Quantity	Offic	Unit Price	Extnd. Price	Willi. Blu Frice	IVIAX. DIG FIICE	Avg. Blu Frice
1	20200100	EARTH EXCAVATION	317.0	CU YD	\$50.00	\$15,850.00	\$65.00	\$99.80	\$82.40
2	20700220	POROUS GRANULAR EMBANKMENT	85.0	CU YD	\$100.00	\$8,500.00	\$110.00	\$117.90	\$113.95
3	21101615	TOPSOIL FURNISH AND PLACE, 4"	1,301.0	SQ YD	\$10.00	\$13,010.00	\$8.00	\$8.50	\$8.25
4	25000210	SEEDING, CLASS 2A	0.8	ACRE	\$6,000.00	\$4,800.00	\$2,887.50	\$4,000.00	\$3,443.75
5	25000400	NITROGEN FERTILIZER NUTRIENT	45.0	POUND	\$5.00	\$225.00	\$3.15	\$5.00	\$4.08
6	25000600	POTASSIUM FERTILIZER NUTRIENT	45.0	POUND	\$5.00	\$225.00	\$3.15	\$5.00	\$4.08
7	25100630	EROSION CONTROL BLANKET	2,499.0	SQ YD	\$5.00	\$12,495.00	\$1.30	\$1.75	\$1.53
8	25100635	HEAVY DUTY EROSION CONTROL BLANKET	39.0	SQ YD	\$10.00	\$390.00	\$3.15	\$10.00	\$6.58
9	28000305	TEMPORARY DITCH CHECKS	116.0	FOOT	\$18.00	\$2,088.00	\$16.80	\$26.00	\$21.40
10	28000400	PERIMETER EROSION BARRIER	1,130.0	FOOT	\$5.00	\$5,650.00	\$3.30	\$4.00	\$3.65
11	28100109	STONE RIPRAP, CLASS A5	113.0	SQ YD	\$80.00	\$9,040.00	\$145.00	\$213.10	\$179.05
12	28200200	FILTER FABRIC	125.0	SQ YD	\$5.00	\$625.00	\$5.00	\$8.00	\$6.50
13	35101400	AGGREGATE BASE COURSE, TYPE B	301.0	TON	\$30.00	\$9,030.00	\$50.00	\$61.10	\$55.55
14	40600275	BITUMINOUS MATERIALS (PRIME COAT)	2,004.0	POUND	\$3.00	\$6,012.00	\$0.01	\$0.01	\$0.01
15	40600290	BITUMINOUS MATERIALS (TACK COAT)	114.0	POUND	\$5.00	\$570.00	\$0.01	\$0.01	\$0.01



Project: Kilbourne Road Culvert Repair

Section: 18-00094-03-BR

Description: Kilbourne Road culvert repair

Item	Pay Code	Description (Quantity	Unit	Eng Estimate		Min. Bid Price	Max. Bid Price	Avg. Bid Price
No.	ray code	Description	Qualitity	Offic	Unit Price	Extnd. Price	Willi. Blu Price	. Iviax. Dia i rico	Aug. Bia :cc
16	40603335	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N50	56.1	TON	\$155.00	\$8,695.50	\$195.00	\$204.75	\$199.88
17	44004250	PAVED SHOULDER REMOVAL	165.0	SQ YD	\$30.00	\$4,950.00	\$23.65	\$25.00	\$24.33
18	48101200	AGGREGATE SHOULDERS, TYPE B	4.0	TON	\$275.00	\$1,100.00	\$200.00	\$391.85	\$295.93
19	48203021	HOT-MIX ASPHALT SHOULDERS, 6"	503.0	SQ YD	\$60.00	\$30,180.00	\$59.30	\$60.00	\$59.65
20	50200300	COFFERDAM EXCAVATION	100.0	CU YD	\$35.00	\$3,500.00	\$100.00	\$112.00	\$106.00
21	50201101	COFFERDAM (TYPE 1) (LOCATION - 1)	1.0	EACH	\$15,000.00	\$15,000.00	\$6,500.00	\$12,050.00	\$9,275.00
22	50201102	COFFERDAM (TYPE 1) (LOCATION - 2)	1.0	EACH	\$15,000.00	\$15,000.00	\$6,500.00	\$12,050.00	\$9,275.00
23	60300305	FRAMES AND LIDS TO BE ADJUSTED	1.0	EACH	\$750.00	\$750.00	\$610.00	\$975.00	\$792.50
24	63000001	STEEL PLATE BEAM GUARDRAIL, TYPE A, 6 FOOT POSTS	725.0	FOOT	\$30.00	\$21,750.00	\$21.40	\$42.00	\$31.70
25	63100167	TRAFFIC BARRIER TERMINAL, TYPE 1 (SPECIAL) TANGENT	4.0	EACH	\$3,500.00	\$14,000.00	\$2,625.00	\$5,000.00	\$3,812.50
26	63200310	GUARDRAIL REMOVAL	688.0	FOOT	\$10.00	\$6,880.00	\$5.05	\$9.00	\$7.03
27	67100100	MOBILIZATION	1.0	L SUM	\$21,500.00	\$21,500.00	\$18,099.75	\$34,200.00	\$26,149.88
28	70300100	SHORT TERM PAVEMENT MARKING	2,263.0	FOOT	\$1.50	\$3,394.50	\$0.65	\$1.50	\$1.08



Project: Kilbourne Road Culvert Repair

Section: 18-00094-03-BR

Description: Kilbourne Road culvert repair

Item	Pay Code	Description (Quantity	Unit	Eng Est	Eng Estimate		e Max Rid Price	Avg. Bid Price
No.	Pay Code	Description	Quantity	Offic	Unit Price	Extnd. Price	Willi. Blu Price	IVIAX. DIU PIICE	Avg. Dia i nec
29	70300150	SHORT TERM PAVEMENT MARKING REMOVAL	922.0	SQ FT	\$0.75	\$691.50	\$1.65	\$3.50	\$2.58
30	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	2,009.0	FOOT	\$1.00	\$2,009.00	\$0.25	\$0.30	\$0.28
31	70300230	TEMPORARY PAVEMENT MARKING - LINE 5"	2,009.0	FOOT	\$1.00	\$2,009.00	\$0.25	\$0.30	\$0.28
32	70107004	PAVEMENT MARKING BLACKOUT TAPE, 4"	275.0	FOOT	\$5.00	\$1,375.00	\$1.75	\$1.85	\$1.80
33	70107005	PAVEMENT MARKING BLACKOUT TAPE, 5"	1,510.0	FOOT	\$3.00	\$4,530.00	\$1.85	\$1.95	\$1.90
34	70400100	TEMPORARY CONCRETE BARRIER	675.0	FOOT	\$30.00	\$20,250.00	\$32.75	\$35.00	\$33.88
35	70600240	IMPACT ATTENUATORS, TEMPORARY (NON- REDIRECTIVE,), TEST LEVEL 2	2.0	EACH	\$5,000.00	\$10,000.00	\$2,800.00	\$2,940.00	\$2,870.00
36	72400710	RELOCATE SIGN PANEL - TYPE 1	6.0	EACH	\$55.00	\$330.00	\$20.00	\$21.00	\$20.50
37	LC200051	REJECTED LOAD TRANSPORTATION	3.0	LOAD	\$1,000.00	\$3,000.00	\$240.00	\$435.16	\$337.58
38	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	3,675.0	UNIT	\$1.00	\$3,675.00	\$1.00	\$1.00	\$1.00
39	LC780021	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 4"	252.0	FOOT	\$3.50	\$882.00	\$2.46	\$2.60	\$2.53
40	LC780022	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 5"	2,011.0	FOOT	\$3.50	\$7,038.50	\$3.08	\$3.70	\$3.39



Project: Kilbourne Road Culvert Repair

Section: 18-00094-03-BR

Description: Kilbourne Road culvert repair

Item	Pay Code	Description	Quantity Unit		Eng Est	imate	Min Rid Price	May Rid Price	Avg. Bid Price
No.	ray code	Description	Qualitity	Offic	Unit Price	Extnd. Price	IVIIII. DIG FIICE	IVIAX. DIG FIICE	Aug. Dia Trice
41	LC782000	GUARDRAIL REFLECTORS	30.0	EACH	\$10.00	\$300.00	\$8.00	\$10.50	\$9.25
42	X0325366	STORM SEWER REPAIR	204.0	FOOT	\$100.00	\$20,400.00	\$51.00	\$100.00	\$75.50
43	X0327980	PAVEMENT MARKING REMOVAL - WATER BLASTING	791.0	SQ FT	\$5.00	\$3,955.00	\$2.00	\$2.10	\$2.05
44	X0426200	DEWATERING	1.0	L SUM	\$30,000.00	\$30,000.00	\$10,000.00	\$20,998.00	\$15,499.00
45	X0358300	REMOVE AND RELAY END SECTIONS	3.0	EACH	\$1,000.00	\$3,000.00	\$6,650.00	\$16,200.00	\$11,425.00
46	X5420672	PIPE CULVERTS TO BE CLEANED 72"	204.0	FOOT	\$30.00	\$6,120.00	\$50.60	\$100.00	\$75.30
47	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	2.0	CAL MO	\$3,000.00	\$6,000.00	\$3,750.00	\$4,000.00	\$3,875.00
48	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$16,100.00	\$16,100.00	\$9,187.50	\$138,500.00	\$73,843.75
49	X7030005	TEMPORARY PAVEMENT MARKING REMOVAL	1,812.0	SQ FT	\$2.50	\$4,530.00	\$0.50	\$0.50	\$0.50
50	Z0062450	SAWING PAVEMENT (FULL DEPTH)	1,224.0	FOOT	\$5.00	\$6,120.00	\$4.60	\$5.00	\$4.80
51	Z0062456	TEMPORARY PAVEMENT	164.0	SQ YD	\$60.00	\$9,840.00	\$87.65	\$130.00	\$108.83
		Bid Total				\$397,365.00			